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2%,(77,9,�)250$7,9,�-�&2562�%$6(� 
�'LVWXUER��'LVDELOLWj«�'LYHUVD-DELOLWj��1XRYH�SDUROH�SHU�QXRYL�VJXDUGL 
*OL�DVVLVWHQWL�VRFLDOL��FRPH�³SURIHVVLRQLVWL�GHOO¶DLXWR´��RSHUDQR�SHU�OD�SURPR]LRQH�
GHO�EHQHVVHUH�GHOOH�SHUVRQH��*UDQ�SDUWH�GHL�ORUR�³XWHQWL´�VRQR�SHUVRQH�OD�FXL�YLWD�
q�DFFRPSDJQDWD�GD�GLIILFROWj�LPSRUWDQWL��,PSHJQDWL�D�IDYRULUH�LO�IURQWHJJLDPHQWR�
GL�WDOL�GLIILFROWj��JOL�DVVLVWHQWL�VRFLDOL�FRUURQR�LO�ULVFKLR�GL�VYLOXSSDUH�XQD�³FXOWXUD�
GHO�GHILFLW´�H�GL�VOLWWDUH�QHO�UXROR�GL�³ULVROXWRUL�GL�SUREOHPL´��2FFRUUH�LQYHFH�
FXVWRGLUH�XQR�VJXDUGR�FHQWUDWR�VXOOH�ULVRUVH�GHOOH�SHUVRQH��VWUHQJKW�SHUSVHFWLYH��
H��DQFRU�SL���ELVRJQD�VYLOXSSDUH�OD�FDSDFLWj�GL�FRJOLHUH�OH�³RSSRUWXQLWj´�FKH�VRQR�
SUHVHQWL�QHOOH�³GLIILFROWj´��DIILQFKp�OH�SHUVRQH�SRVVDQR�UHDOL]]DUVL�QRQRVWDQWH�H��
DGGLULWWXUD��DQFKH�JUD]LH�DOOH�DYYHUVLWj��4XHVWR�FDPELR�GL�SURVSHWWLYD�WURYD�
SDUWLFRODUH�ULOHYDQ]D�QHOO¶DPELWR�GHOO¶DFFRPSDJQDPHQWR�GL�EDPELQL�FRQ�'LVWXUEL�
6SHFLILFL�GHOO¶$SSUHQGLPHQWR�H�GHOOH�ORUR�IDPLJOLH��6DSSLDPR�FRJOLHUH�OH� 
³GLYHUVH-DELOLWj´�GL�FXL�HVVL�VRQR�SRUWDWRUL"� 

2%,(77,9,�)250$7,9,�-�&2562�352�� 
5XROR��VILGH��EXRQH�SUDWLFKH�GL�6HUYL]LR�6RFLDOH 
,O�FRUVR�LQWHQGH�SURPXRYHUH�O¶DSSURIRQGLPHQWR�GHOOD�WHPDWLFD�GHL�
'LVWXUEL�6SHFLILFL�GHOO¶$SSUHQGLPHQWR�IDYRUHQGR�VRSUDWWXWWR�
O¶DPSOLDPHQWR�GHOOD�SURVSHWWLYD�GHJOL�LQWHUYHQWL�SURIHVVLRQDOL�
VSHFLILFL��LQ�XQ¶RWWLFD�GL�UHWH�H�FROODERUD]LRQH�IUD�L�YDUL�SURWDJRQLVWL�
LQ�JLRFR��,Q�SDUWLFRODUH�VDUDQQR�HVSORUDWL�JOL�DPELWL�GHJOL�LQWHUYHQWL�
ULDELOLWDWLYL�H�GL�VRVWHJQR�DL�PLQRUHQQL�H�DOOH�IDPLJOLH�DYHQGR�FXUD�
VRSUDWWXWWR�GL�IDU�HPHUJHUH��LO�FRPSOHVVR�UDSSRUWR�IUD�OD�SUDWLFD� 
H�OH�QRUPDWLYH�GL�ULIHULPHQWR�QHO�ODYRUR�FRQ�JOL�(QWL�LVWLWX]LRQDOL�� 
LO�UXROR�VSHFLILFR�GHL�VHUYL]L�VRFLDOL�H�GHJOL�DVVLVWHQWL�VRFLDOL� 
QHO�FRQWHVWR�GHJOL�LQWHUYHQWL�SHU�PLQRUL�FRQ�'6$��OH� 
SHFXOLDULWj�FKH�FDUDWWHUL]]DQR�L�'6$��JOL�DVSHWWL� 
SVLFRORJLFL�VRWWHVL�DOOD�GLDJQRVL��OD�SUDVVL�QHO� 
ODYRUR�ULDELOLWDWLYR�GL�WLSR�ORJRSHGLFR��LO� 
UDSSRUWR�PHQWH-FRUSR�QHL�'6$� 
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ϭͿ �ĞĮĐŝƚ͕�ƌŝƐŽƌƐĞ�Ğ�ƌĞƐŝůŝĞŶǌĂ͕�DĂƌĐŽ�'ŝŽƌĚĂŶŽ�;ĂƐƐŝƐƚĞŶƚĞ�ƐŽĐŝĂůĞͿ 
 

ϮͿ�KůƚƌĞ�ůĂ�ƉĞƌĨŽƌŵĂŶĐĞ͙͕�DĂƌĐŽ�'ŝŽƌĚĂŶŽ�;ĂƐƐŝƐƚĞŶƚĞ�ƐŽĐŝĂůĞͿ 
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ϭͿ��ŝƐƚƵƌďŝ�^ƉĞĐŝĮĐŝ�ĚĞůů͛�ƉƉƌĞŶĚŝŵĞŶƚŽ͗�ĚĞĮŶŝǌŝŽŶŝ͕�ĐĂƌĂƩĞƌŝƐƟĐŚĞ�Ğ�ĨĂƩŽƌŝ�Ěŝ�
ƌŝƐĐŚŝŽ͕�Ěƌ͘ ��ĂŶŝĞůĞ�/ŽǀŝŶŽ�;ƉƐŝĐŽůŽŐŽ͕�ƉƐŝĐŽƚĞƌĂƉĞƵƚĂͿ͖ 
 

ϮͿ�/ů�ďĂŵďŝŶŽ�ŽůƚƌĞ�ŝů��^�͗�ĂƐƉĞƫ�ƉƐŝĐŽůŽŐŝĐŝ�ƐŽƩĞƐŝ�ĂůůĂ�ĚŝĂŐŶŽƐŝ͕�Ěƌ͘ ��ĂŶŝĞůĞ�/ŽǀŝŶŽ�
;ƉƐŝĐŽůŽŐŽ͕�ƉƐŝĐŽƚĞƌĂƉĞƵƚĂͿ͖ 
 

ϯͿ�>Ğ�ŶŽƌŵĂƟǀĞ�Ěŝ�ƌŝĨĞƌŝŵĞŶƚŽ�ŶĞů�ůĂǀŽƌŽ�ĐŽŶ�ŝ��^�͕�Ěƌ͘ ƐƐĂ�DĂƌŝĂŐƌĂǌŝĂ��ƐƉŽƐŝƚŽ�
;ĂƐƐŝƐƚĞŶƚĞ�ƐŽĐŝĂůĞͿ 
 

ϰͿ��ŝƌŝƩŽ�Ăůů͛ĞĚƵĐĂǌŝŽŶĞ�Ğ�Ăůů͛ŝƐƚƌƵǌŝŽŶĞ͕�Ěƌ͘ ƐƐĂ�DĂƌŝĂŐƌĂǌŝĂ��ƐƉŽƐŝƚŽ�;ĂƐƐŝƐƚĞŶƚĞ�
ƐŽĐŝĂůĞͿ 
 

ϱͿ�ZƵŽůŽ�ĚĞůů͛�ƐƐŝƐƚĞŶƚĞ�ƐŽĐŝĂůĞ͗�ƌĂĐĐŽŶƚŽ�Ěŝ�ƵŶ͛ĞƐƉĞƌŝĞŶǌĂ͕�Ěƌ͘ ƐƐĂ�DĂƌŝĂŐƌĂǌŝĂ�
�ƐƉŽƐŝƚŽ�;ĂƐƐŝƐƚĞŶƚĞ�ƐŽĐŝĂůĞͿ 
 

ϲͿ�/ŶƚĞƌǀĞŶƚŽ�ůŽŐŽƉĞĚŝĐŽ�ƉĞƌ�ĂůƵŶŶŝ�ĐŽŶ��^�͗�ƐƚƌƵŵĞŶƟ�ĐŽŵƉĞŶƐĂƟǀŝ�Ğ�ŵŝƐƵƌĞ�
ĚŝƐƉĞŶƐĂƟǀĞ͕�Ěƌ͘ ƐƐĂ�DĂƌŝĂ��ŝƌŝůůŽ�;ůŽŐŽƉĞĚŝƐƚĂͿ 
 

ϳͿ�/ů�ƚƌĂƩĂŵĞŶƚŽ�ĚĞŝ��^��ŶĞůůĂ�ƚĞƌĂƉŝĂ�ŶĞƵƌŽ-ƉƐŝĐŽŵŽƚŽƌŝĂ͕�Ěƌ͘ ƐƐĂ�&ĂďŝŽůĂ�>ĂƌƵƐĐĞ�
;ŶĞƵƌŽƉƐŝĐŽŵŽƚƌŝĐŝƐƚĂͿ 



������¼��DQ]LFKp�������¼��JUD]LH�DG�XQR�VFRQWR�GHO������� 
*UDWXLWR�SHU�JOL�VWXGHQWL�GHL�FRUVL�GL�ODXUHD� 
LQ�VHUYL]LR�VRFLDOH� 

��RUH��YLGHROH]LRQL���VWXGLR�OHWWXUD�PDWHULDOL�GLGDWWLFL� 

 

'DO����VHWWHPEUH����� 
�OD�IUXL]LRQH�GHO�FRUVR�YD�FRPSOHWDWD�HQWUR�VHL�PHVL�GDOO¶LVFUL]LRQH�
H�FRPXQTXH�QRQ�ROWUH�LO����DJRVWR������ 
 
 
 

5(63216$%,/, 
 
GU�VVD�/DXUD�'¶$QLHOOR��SVLFRORJD��SVLFRWHUDSHXWD 
 

SURI��0DUFR�*LRUGDQR��DVVLVWHQWH�VRFLDOH��GRFHQWH�GL�
VHUYL]LR�VRFLDOH� 
 

ZZZ�SURJHWWRIDPLJOLDIRUPD]LRQH�LW�FRUVL�GVD-���� 



GU�VVD�&DUPHOD�&DURWHQXWR 
WXWRU�IRUPD]LRQH#SURJHWWRIDPLJOLD�RUJ 
FHOO��������������� 
�OXQHGu��PHUFROHGu�H�YHQHUGu 
GDOOH�RUH������DOOH�RUH������� 

DUWLFROD�LQ���OH]LRQL��DFFRPSDJQDWH�GDOOR 
VWXGLR�SHUVRQDOH�GL�DOWUHWWDQWH�UHOD]LRQL�VFULWWH 
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